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Note .(— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.
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Section-A 8x2=16
(Very Short Answer Type Questions)

Note -— Section—A contains 08 Very Short Answer Type

Questions. Examinees have to attempt all

questions. Each question is of 2 marks and

maximum word limit is 30 words.
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Solve (5 + 4 -0.9) + 2.7.
(5+4-009) + 2.7 RIS |
Find the value of (16)1/4.
(16)1/4 =1 9F F1A HifeQ |
If a bus travelled 132 km in 3 hours, then find
speed of bus.
39 H =g 132 fodl. &) g @@ wd T
ERECE T e
Find the HCF of 8, 18 and 26.
8, 18 3R 26 =1 wWewH wHWads (HCF) 9@
HITT |
If Ram gets loss of 20% on selling a watch

in 72 rupees, then find purchase cost of

watch.
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72 93 A H U WS 991 W T B 20% Hi QUs—

a A ¥ A S T A qed o E 2 (719, I 9
(vi) Ifsides g, b and c are given, then what is area dor ;- Tus-9 # oTe oY SWE WA ¥, TankiE #r fe=t
of triangle ? TR Y H TEE I T qSS U 16 TR H T
A o g, b 3R ¢ & &, @ B w1 Swa e @ siftrehan 200 vea § Y ware aiEiEd
ERIIGL FH T
(vii) Write the definition of arithmetic mean. 2. Explain the following definitions of Mathematics :
HARR A it i fafe (@) Mathematics : Science of magnitude and
(viii) Write the value of log;5. numbers
log;o5 =1 "M ferfe (b) Mathematics : Science of development of
Section-B 4x16=64 subjects
(Short Answer Type Questions) i = Frefafed aRuTe B TEeEy
Note — Section-B contains eight Short Answer Type N e S SR SE I S,

Questions. Examinees will have to answer any four ’
(&) Tifora « fafs= eme i wfa w6 fafy

questions. FEach question is of 16 marks.

Examinees have to delimit each answer in 3. A hound runs after a rabbit. The rabbit is 87.5

maximum 200 words. meters ahead of the dog. The sooner the rabbit
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fills 4 bounces, the later the dog fills 3 bounces. If

3 3
the dog and the rabbit go 22 meter and 12 meter

in one bounce respectively, then in how many

bounces will the dog catch the rabbit ?

T TR /O T T % N dedl §1 |
FI T 87.5 ™. A ¥ S W H =R 4 39w
WA ¥, ST S H H/ 3 IV R T ARG H SR

. A3 3
GO HHS: TH 3o H ZZ i 3R IZ X

ST ¥, O AT fhael Sl # ' H UhS
T ?

. Ashish borrowed some money from Mohan for 6
years. Mohan lent at the rate of 3% annual simple
interest. If Ashish paid a total of Rs. 1,18,000,

how much money he had borrowed ?

MY 3 He ¥ /B o7 6 a9 & forw 3ur feran dem
J 3% oIfter WERY AN H W ¥ OSUR fEEn i
STeiY &1 FHa 1,18,000 & IF U2 q AR 3§ HA
feramT o= SR ferm e ?
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5. Write a short note on merits and demerits of

median.

mfeeRT & U1 9 W W Hia feogo wifs

. There is a 15% profit by selling a chair for Rs. 30.

At what price should you sell the chair to make a
profit of 20% ?

T FHE H 30 T H TG W 15% N Sl &1 HH I
fFg gea W 3= & oy 20% & 5 ?

. Explain acute angle, right angle, obtuse angle and

straight line.

I IV, FHHIOT, AfH HI0T IR WA I T THATST |

. Solve the following system of equation :

x—y=10; x -2y =17
frefafea aHe @ &1 8 *iNT

x—y=10; x -2y =7
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9. If area of a right angle triangle is 2 meter? and
base is 90 centimetre, then find length of

perpendicular of triangle.

I TH THHRIU YA F AT 2 FTHR R SMER
90 THY. ¥, O IS & o TS A RIS |
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